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01(40)(10)

1.: (PMc ˂ Pmc)  ()

2.:( ΔY > ΔC ) ()

3.( ) (Y) ()(Y)

4.()()()

02(60)

1/40.0002 (02)

(40.0  =i) (002  =y )  
60 Le=  40 Lp=  

010 =06+  40 = 1L + PL = L 

2/30.0002 (02)

(30.0  =i) (002  =y )  
60 Le=  80 Lp=  

 140=60 + 80 = 1L + PL = L 

3/ (02)

(40.0  =i) (30.0  =i) 

(100  =L) (140  =L)40

 

 

30(01)

1/(L)

   0.15 Y  αLe =

                    150
 
– 750 i  αLP =

 

L = LP + Le = 0.15 y  - 750 i + 150 

2/(LM)

()(M = 100).  L = 0.15 y  - 750 i + 150 

 L = M  =>   0.15 y  - 750 i + 150 = 100 

 

(10) 

(10) 



0.15 y  = 100 + 750 i - 150   =>    y  = (750 i - 50) / 0.15   =>    y = 5000 i - 333.33 

LM

3/(IS)

I = S    =>   

1200-20000 i =  - 800 + 0.2 Y      =>     0.2 Y = 1200 – 20000 i + 800 

=>   Y = (2000 - 20000 i ) / 0.2             =>     Y = 10000 – 100000 i 

IS

4/

(LM ) (IS)

(LM  =IS)

5000 i – 333.33 = 10000 –100000 i  => 100000 i +5000 i = 10000 + 333.33 => 105000 i =  10333.33 

=>  i =  10333.33/ 105000   =>  i 

*
 = 9.84 %

Y
*
 = 10000 – 100000 ( 0.0984) =>  Y

*
 = 160 
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(10) 

(10) 

(10) 

(10) 

(10) 

(10) 

(10) 


